20138tdx "A| X E SEX o
® 2013sfAT FA| Ll +sHES HT
grdwatd JIEX|E X8 +sSHES
T+ 2 HAl L2 Al Cha
& | A g & | X g#
Mstat 59.2 10.2 39.8 - - -~
7| =235t} 68.5 46.1 59.0 - - -~
A | J1=mus 65.6 49.9 58.8 - - -
=0z Estal - - - 80.6 72.6 75.7
Jo{F 2 st - - - 85.6 72.6 77.7
2| A|O}Of ot* - - - 84.2 71.4 74.5
S20o{at* - - - 76.6 70.9 73.3
A7 | gotagat 81.6 67.2 76.3 - - -
dgstnt 79.2 62.9 75.7 - - -
A stat(of) 70.2 61.6 67.5 71.6 62.6 67.2
FoAgsSstn - - - 81.9 72.7 75.8
Haste 78.2 68.4 73.2 80.2 75.2 76.9
e & stat 85.7 64.9 73.5 - - -
g = st at(of) 68.6 54.9 63.9 72.3 67.8 70.2
S ¢ &stat - - - 73.3 7.6 35.9
= &| 2t A| st ot 78.8 70.3 74.0 - - -
HEEA st at 78.4 68.2 72.6 85.3 69.8 74.4
A E sttt 77.9 67.5 73.0 - - -
SIS Y HC| Xl nt - - - 77.0 67.8 71.1
HEESsa* 76.9 66.8 70.6 76.3 72.2 73.9
HeEEMZStaH* 74.5 65.0 69.5 79.3 67.3 72.2
EA™EZstn} 74.7 62.7 69.6 78.2 68.6 72.6
4o x|Zstat* 74.9 65.4 70.3 76.7 71.7 74.1
M7|- M XtZstat* 76.3 58.8 71.3 77.8 71.5 74.4
C|X|=ojc|ofstat 83.7 60.2 71.4 - - -
C|X|=o|c|ofC| Xtolstat 76.4 67.9 721 - - -
S3ddstn 66.3 40.5 52.5 62.6 40.4 51.8
a3t A st 71.4 48.3 57.4 62.2 37.1 46.3
HmA ZEFE{ st} 68.9 48.8 56.3 73.2 44.0 57.2
SO0 | A AEIZS 63.7 38.4 49.8 64.3 47.4 54.5
jot=FME - - - 67.7 10.6 41.9
29} MetME - - - 71.1 8.8 34.8
StE HIMZ - - - 60.7 19.6 39.0
AT - - - 62.3 13.3 32.7
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